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n | =L BE 15 0 — — — 15
8 | Joe Justice — — 1 6 6 13
9 | cHOI JW. — — — — 12 12
n | ®# EF — — 12 — — 12
n | tB =4 — 12 — — — 12
THES E: 12 0 — — — 12
13 E B — 3 8 — 1 12
14 | 3#@ ER — — — 10 — 10
BE| n | AR EXER 1 0 — — — 10
16 |EH =ik 4 1 4 1 0 10
17 | sl %2 6 — — 3 — 9
18 | 4@ %048 — — — — 8 8
n | tfE = — 8 — — — 8
20 | RAR FERK — — 6 — — 6
21 | KB BEX — 0 3 2 0 5
22 sono106 — — — — 4 4
n_ | HiR BA — — — 4 — 4
" R Fnal — 4 — — — 4
25 | KB fEE 3 0 0 0 0 3
26 | HE R — — — — 2 2
n_ | @ Sih — — 2 — — 2
n_| HIE EXR - — — — 2
29 &) £2F 2 — — — — 2
PN K % 3/10 L =] 4/2] 5ol 16/29 W7 8] 8/10 HC=] 9/28 =L ] 10/20 3.% | TOTAL
smas | smsas | smis | smea | smas
1 KIMI 20 20 20 20 20 100
2 | cHOI JW. — — — — 15 15
" TAKAS A — — — 15 —_ 15
" HEBERT K — 15 —_ —_ —_ 15
n | Bl #E 15 0 — — — 15
EV-1| 6 | %@ 48 — — — — 12 12
AEEETS — 12 — — — 12
" G 12 0 —_ —_ —_ 12
9 sono106 — — — — 10 10
n_ | AR EKRER 10 — — — — 10
11 |5 Z8F 8 . — — 8
XEV-1 95 X=F—4—HH 250kWLL L O HEREM
SBR[ K 2 310 HC= ] 4/27 TR 16/29 W7 Bl 8/10 HC =] 9/28 =+ | 10/20 5.8 | TOTAL
smos | smos | smes | smes | smea
Ev-p|_1 | E~F 254 20 20 20 20 20 100
2 [L—v—E8 0 — 15 15 15 45
XEV-2 95 X=F—48—H 1 150kWLL Lt ~250kWk & D ERE il
S A B K % 3/10 L =] 4/27 TE 16/20 W7 ] 8/10 HC =] 9/28 =T | 10/20 3K | TOTAL |
& 08 Smis Smis Smis Smis
EV-3] 1 [ &A@ EX — 20 20 20 20 80

MEV-3 J5R=E—5—th 7] 150kWkE D BRE M




v NG K % 3/10 L =] 4/2] JAE 16/29 47 F]8/10 LC=1 9/28 = F | 10/20 5% L TOTAL
smoa | smeg | smos | smis | smss
1 Joe Justice — — 15 20 15 50
EV-S| # HE BB — 15 20 — 12 47
3 | g EE — 20 — — 20 40
MEV-S (AR—YI1—TAUT(E—D)L) IS5 A=ThBRE M (N E @)
v NG K % 3/10 HC= | 4/27 R 16/29 7 81 8/10 5 =] 9/28 =L | 10/20 L% | TOTAL
smoz | smog | smoz | smos | smos
EV-C — — — —
XEV-C 95 &= Fﬁﬁﬁia&zm(ﬂﬂﬁ BH
v NG K % 3/10 L =] 4/2] FLE 16/29 4 E]8/10 LC=1 9/28 =T | 10/20 5% L TOTAL
smoz | smig | smis | smos | smos
BVl RAAR EEm| — — 20 — — 20
n_ | thE = 20 — — — 20
XEV-F(BREEM) 95X—T'EFE$EJ(H:'JJ EED)
5521 By K Z 0B C=] 427 K l6/o0mrml 8/10 B C=1 0/28 =+ 1 10/20 iR | TOTAL
B1E | 2M2E | 2Mas | 2maE | SmaE
1 Bl ZEMH 15 20 20 15 20 90
2 il Hz 20 — — 20 — 40
3 KE EE 12 0 10 0 10 32
ol 4 | 27 %5 — — 15 — 12 27
VRIS T il = = = — — 15 15
" AR BA — — — 15 — 15
" XH W — 15 — — — 15
8 EE.% 25 — — 12 12
>Z<EV—R(I/>/I’]ZT/9’—) 95Z=I>°)>'C°%'§L‘C=E—9—'Ctﬁ?6ﬂﬂﬁ$|'ﬂ (HAhEH)
BB B E Z 0B C=] 427 B 620 mrml 8/10 B c=1 0/28 =+ 1 10/20 R | TOTAL
SNo0E | 2Mm2E | 2m2a | smia
HHEH R — - — — 20 20
1" HE ER — — — 20 —_ 20
" TZH =ZF — — 20 — — 20
" AR FAl — 20 — — — 20
5 FH 2sh — —_ 15 —_ —_ 15
1 BIE ZEX — 15

XEV-P(TOMAT) 95R= l/ X%Fﬁié’a&m’aﬁﬁiﬁ(tﬂﬁ/iﬁigﬁﬂi)

X141,720 21715 31712 441710 5418 6416 7# 4 84 3 9fii 2 101
XERDGE FEBBERDOEVIE 26UTLRELT S0 ENTLRRADGE XREBOIRRA LI EZBEIET S
REFREREKRIHDB0% UL UMERUTEEREAN) [CSMLIZELDITEZ S,



